Study questions set 2
Agricultural Statistics (96334)
Q1. The following table shows proportions of computer salespeople classified according to marital status and whether they left their jobs or stayed over a period of 1 year. 
	Marital Status
	Stayed 1 year
	Left 

	Married
	0.64
	0.13

	Single
	0.17
	0.06


a) What is the probability that a randomly chosen salesperson was married?

b) What is the probability that a randomly chosen salesperson left the job within the year?

c) What is the probability that a randomly chosen “single” salesperson left the job within the year?

d) What is the probability that a randomly chosen salesperson who stayed in the job over the year was married?
Q2. We have 10 Dell computers and 10 Acer computers of equal specifications. Suppose we choose 10 computers at random out of the twenty, what is the probability of getting 5 Dell and 5 Acer? What is the probability that all chosen computers are Dell?
Q3. A dairy plant produces 5 defective milk packets out of each 100 produced. The factory has four production lines each producing one fourth of the packets and 10% of the packets produced by the first line are defective. If a defective packet is found, what is the probability that it is from the first production line? 

Q4. Given that A1 and A2 make the sample space, P(A1)= 0.40, P(B1|A1) = 0.60, and P(B1|A2)  = 0.70, what is the probability of P(A1|B1)?

Q5. If we toss a coin two times:

1- Give the sample space for this experiment.

2- If A is the event of getting at least one head, give the outcomes of the set A.

3- What is the probability of A?

4- What is the probability of getting exactly one head?

Q6. If P(A) = 0.6, P(B) = 0.5 and P(A and B) = 0.3,  find the following:

1- P(A or B)

2- P(Ac)

3- P(A-B)

4- P(Ac(Bc)

5- P(Ac(Bc)

6- P(A|B)

7- P(B|A)

8- Are A and B independent?

9- Are A and B mutually exclusive?

10- Are A and B collectively exhaustive?

Q7. If P(A) = 0.6, P(B) =0.3 and P(A|B) = 0.4, find:

1- P(A(B)

2- P(B|A)

Q8. An urn contains 3 red balls and 9 white balls. If we randomly draw one ball without replacement then draw another ball, what is the probability that the first is white and the second is red? Answer the same question if the first ball was drawn with replacement.

Q9. An urn contains three red balls and two white balls. If we draw two balls simultaneously, find the following:

1- The probability that the two balls are red.

2- The probability that the two balls are white.

3- The probability that one is red and the other is white.
